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Question 1.(19 points) Circle the correct answer:
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(1) The sequence ay, =€ r
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(a) Converges to e.

@Converges toe t. v e,

(c) Clonverges to 1. 6_1 é]\\
(d) Diverges. NN

) Converges to 0

(d) Diverges.
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\ (3) The series Y mog w14 ) co ’k Qo")g\‘f\
K(a\ Converges by integral test. [ ! o
3) IDiverges by integral test 2 O \ A4 O LF
() Diverges by nth term test. ) Q,h T e ‘ ‘\
(d) None of the above.
(4) The series ) o0 &= AT
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(a) Converges by nth term tesf. hot ) r{;a:_._{-w
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(b) Diverges by nth terin test. A A

(c) Diverges by ratio test. ~ r_/\r\4 e
{d) (omverges by nthroot test. . €
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(a Converges by 111tegral test. ' e
e @Diverges by divect comparison with y o, (ﬁ}n = 3
=
(« Converges by nth term test. _n 50 f—\"r PR
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{6) T.‘nﬂ interval of convergence of the series » .7 -
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(7) One of the following series converges absolutely NV '
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(d) None of the above.
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(9) The Maclaurin series generated by f(xz) = 5% is
(8) 3ot o
(b) Tn—O f:fl
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d) Zn o hld)" '”"
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(10) 30, 12

2= R

(a) Converges by integral test.
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(b) Converges by limit comparison with ) o g 25
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{c)/Diverges by limit comparison with ) .0 -

(d) Diverges by nth term test

(11) [ 2bmas s

2 z—1

Counverges 1o 0.
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Diverges by limit comparison with fz £

z—1
- . . - - oo .
WDW@Iges by direct comparison with f2 g;_

() None of the above.
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(13) The radius of convergence of the series 3 o, ° (;na) is
(2} 0.
{by 1.
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{(14) The SEQUENCE dy, == n(e ™ - 1)
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({35} Converges by ratio test. ARy :
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(b) Converges by nth term test.
(c) Diverges by ratio test.
(d) Ratio test fails
- [18) The error in the approximation s = 1 —

L—\O.l, 0.1] is less than
(a)F1 x 10710,
‘J) 1% 1079,
(¢) 1 x 1077,
(d) 1 x 1077,
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The Maclaurin series generated by f{z) = & i3
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(48) Suppose that Y22 n) = L then
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(d) 1

one of the above,

(19) The series 372, tenhn
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(a) Diverges.
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(g)\uomfemob by direct comparison with

1
(¢] Diverges by direct comparlson with 5 o0 2
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(d} Is an elternating series.
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{Juestion 2(6 points) Solve the infegrals
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